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QUESTION 1

Your customer wants you to restrict the values of Receivables Transaction Type for their three business units. You
created three reference data sets for each business unit. However, the user is still able to see the values in the
Transaction 

Type list of values which are not defined in the business unit data set. 

What is the reason for this behavior? 

A. The user has multiple Business Unit Roles and, therefore is able to see additional values. 

B. Reference Data Sets cannot be used uniquely across business units. They can only be used at the Legal Entity
level. 

C. Receivables Transaction Types are common across business units. 

D. The user is seeing the values defined in the common set. The values should be removed from the common set. 

Correct Answer: C 

 

QUESTION 2

What three Key Performance Indicators are available in the Warehouse Operations Dashboard? 

A. Inventory Value 

B. Cycle Count 

C. Shipment Value 

D. Exact Matches Rate 

E. Distributed Value 

F. Hit or Miss Accuracy 

Correct Answer: ADF 

https://docs.oracle.com/cloud/farel12/scmcs_gs/FAMML/FAMML1153520.htm#FAMML115 Warehouse Operations Key
Performance Indicators: Explained Key performance indicators (KPIs) measure how well an organization or individual
performs an operational, tactical, or strategic activity that is critical for the current and future success of the organization.
The Warehouse Operations Dashboard contains the following KPIs: Inventory Value Hit or Miss Accuracy Exact
Matches Rate Inventory Value The Inventory Value KPI shows the total value of inventory owned by your organization.
The KPI indicates whether the material is physically available in the warehouse or if the material is in transit. The KPI
report enables you to compare the inventory value for a selected time period with the prior year\\'s inventory value for
that same time period. You can also compare inventory value by inventory categories. Hit or Miss Accuracy The Hit or
Miss Accuracy KPI shows the percentage of the cycle count that falls within the hit and miss tolerances of a total cycle
count. This KPI provides the rate of hits during the cycle counting process. The KPI report enables you to compare the
hit or miss accuracy for a selected time period with the prior year\\'s hit or miss accuracy for that same time period.
Exact Matches Rate The Exact Matches Rate KPI shows the exact match entries as a percentage of the total cycle
count entries. An exact match entry is an entry where the counted quantity entered is the same as the system quantity.
The rate of exact match entries obtained during the cycle count is called Exact Matches Rate. The KPI report enables
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you to compare the exact matches rate for a selected time period with the prior year\\'s exact matches rate for that same
time period. 

 

QUESTION 3

An inventory transaction is imported to the system through an FBDI template. 

Which transaction state denotes that an inventory transaction is created in the Oracle Cloud Inventory Management
application? 

A. Created 

B. New 

C. Validated 

D. Deferred 

E. Staged 

Correct Answer: C 

Explanation: The Validated transaction state denotes an inventory transaction that is created in the Oracle Fusion
Inventory Management application. https://docs.oracle.com/en/cloud/saas/supply-chain-management/r13-
update17d/famml/manage-inventory-transactions.html#FAMML1153493 

 

QUESTION 4

Which three types of Jurisdictions should be considered while designing the Enterprise Structure? 

A. Local Jurisdiction 

B. Identifying Jurisdiction 

C. Labor Jurisdiction 

D. Obligatory Jurisdiction 

E. Income Tax Jurisdiction 

F. Transaction Tax Jurisdiction 

Correct Answer: BEF 

https://docs.oracle.com/cd/E51367_01/commonops_gs/FAESC/F1004343AN10971.htm#F AESC1004343 Jurisdiction
is a physical territory such as a group of countries, country, state, county, or parish where a particular piece of
legislation applies. French Labor Law, Singapore Transactions Tax Law, and US Income Tax Laws are examples of
particular legislation that apply to legal entities operating in different countries\\' jurisdictions. Judicial authority may be
exercised within a jurisdiction. Types of jurisdictions are: Identifying Jurisdiction Income Tax Jurisdiction Transaction
Tax Jurisdiction 
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QUESTION 5

Your company has multiple inventory organizations where goods are transferred internally. A user has created a new
organization but the new organization is unavailable when creating an interorganization transfer. 

What is the missing setup? 

A. The source and destination organization doesn\\'t belong to the same legal entity. 

B. Inventory organization data access for users is not set up. 

C. The destination organization transfer type is In Transit. 

D. Interorganization Parameters are not set up between the organizations. 

Correct Answer: C 

Explanation: https://docs.oracle.com/cd/A60725_05/html/comnls/us/inv/iorgtrns.htm 
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